REN HNEAEER

R4 1ZIRIR 2&NE SEANE {EBR i35 JIE iz
1ERE 3 -0 2 -1 2 -1 3-0 14
2F)NE 0 -3 2 -1 1 -2 1 -2 31z
SEENE 1 -2 1 -2 0-3 0 -3 2 iv2
MEER 1 -2 2 - 1 3-0 2 - 1 24
SUEKO#F »i#kRE#E R

R4 1ZRE 2&F R SEHIE MEER i 350 B iz
1ERE 2 -1 0 -3 1 -2 1 -2 31z
2F)IE 1 -2 1 -2 3-0 1 -2 44
SEENE 3 -0 2 - 1 0-3 2 - 1 241
AEEIR 2 - 1 0 -3 3-0 2 - 1 1451
oa—n"—0 HEEER

B4 1Z5RE 2F R SEHIR {EBR i 350 JIE £z
1ERE 2 - 1 2 - 1 1 -2 2 - 1 241
2FNE 1 -2 2 -1 1 -2 1 -2 <3iva
SEENE 1 -2 1 -2 2 - 1 1 -2 441
AEEIR 2 - 1 2 - 1 1 -2 2 - 1 1451




